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[Q-1] (a ) Write the canonical formula for the following L.P.Problem
Min Z=x +y -z (Sl
St
| X +¥ -2 212,
x+y+3z=10,
3x+y—-2z22, x,y,z>0

[Q-1] (b )Solve the following L.P.Problem by using two different methods
Max Z=3x+2y (dnY)
S. t
4x+y <8
4x+3y <12,
4x-y =<8 x,y=0.

-2] (a) Write the dual proble the followin imal problem :
Max Z =5x, +12x,+4x
1 2 3
Subject to i be y
Gla t .
X+ 2 Xy +X3 =10,
2x] - X, +3x3 =8
Xy s X, ,,\73 >0
[Q-2] (b) Define: (4ante)

(1) Convex and non convex sets
(2) The Dual problem for primal problem in Mmlmum case.
(3) The degenerate solution

[Q-3] (1) Complete the following statements ()

(2) The entering variable in the minimization problem is the non basic variable with
thelescns Positive coefficient in Z-equation.

M IHZ(x,)=Z(x3), X1 # X2 then ........... S SR R S e 3
(c) At any optimal solution Fhe value of the primal problem ............ dual problem.
(d) If the value of any basic variable equal to zero in the table at any iteration , then this

solution is called.......
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[Q-3] (1) Solve the following L.P.P fAa5010)
Max Z =5%; +12%. +dx
1 2 3
Subject to
X +2>;2 +x; =10,
2>c1 Xy +3.1‘3 =8,
X Xy o X >0
[Q-4] ( A)Find The minimum cost for the following transportation problem:
{ *ap i)
M1 M2 M3 Supply
W1 5 I = - 3
b 10 ’ 7 5 #
w3 T 6 8 6

[Q —4] (B ) Find The critical path for the following project and complet
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